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YIS ) 4HE AB,AB K h 1 =5 em A i P& FOLORIEE N 0A =
20 em. AERZAR i om A A F B (R, (ol 45 0 BB i S A 2

4.64 (MEBREEIEN =5 em, H—PROCAAT RN E,
YIFER u =6 cm , UK B B OEO AL FOT AL E L AR, X m
Ayl R GOCR B RN SRR IR d =0. 2 em, (] &
s R AE A Ak 7

4.65 RN —WLAEE V=72 km/h 17309754, 1]
AHALEE K AR RE R f = 13 mm R EBGAHPLN v =26 m, ZoRIE A L
KR EB AR [ =0. 05 mm , 5K BEE A EE] £

4.66 W ZPATAHXSITREHBE A V, =5 m/s BV, =
10 m/s. FEPIME LR 5 3 B Jy a1 i 45° 1 PR AEEE R u = 150 m
B, B AR I AR S Y BE i BR. B B B RS
BB AL Ar =0. 03 mm i (0] B L A B[R] Ac AR KT 2
7 MO BE BN f=5 cm.

4.67 YEMNBEFEATHE R [ =90 em, BAYIALELS I
B AR 64 5 AR, w2k AT R &7 HAER f A2
K7 BGEIAEAT 2 -0 77

4.68 MEGLAEEMERS R =10 em F1 D =4 om, 1E
BB Rl B SO S 5 — i — 65 24 S MR
A u, =30 em B, S FEJEBF b AU M AR, A S BWIEE R u, =
20 em, kDGR ECBER HAE d HEK?

4.69 WnE AR, NS B SR EE R AR5 5k f F D,. sOETR
BIEBMEER N u, (v, >f) JFFE M O B E SRR R N
L mOCIRE S BRI R R LRI EAZ R D fOEBE. Wk s
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